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XC1: ['LfA", 'peakTgtLAl']
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XC1 (plot by DAT)
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XC1 (plot by adjDAT)
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Plot Env Data
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Plot ['sfDemFrV']
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42.5 H
40.0
37.5 A
35.0 A
32.5 A
3001 — optT1
27.5 4 — optT2
0 5 10 15 20
hr
60
—— oOoptRH1
504 optRH2
40 A
30 ~
20 A
10
0 5 10 15 20
hr
80 4\/\_/\_\
60 A
40 A
—  warRH1
204 warRH2
0 .
-20 A
0 5 10 15 20
hr
27.54+ —— PATG_T1
250 4 —— PATG_ T2
' -— T
22.5
20.0
17.5 A
15.0 +
12.5 A
10.0 T T T T T
0 5 10 15 20
hr
27.5 1
—— PATS T1
25.0 7 = PATS T2
- T
22.5
20.0
17.5 A
15.0 A
12.5 A
10.0 ~
0 5 10 15 20
hr
55 . —— PAVT T1
—— PAVT T2
204 @ T
18
16
14
12
10

0 5 10 15 20
hr

900 -
800 -
700
600 -
500 -
—— PATG C1
400 1 —— PATG_C2
300 - s c
8 10 12 14 16
hr
750
700
650 -
—— PATS C1
600 - —— PATS C2
—-0— C
550 -
500 -
450 -
8 10 12 14 16
hr
500 | ﬂ/
SC i p— PAVT C1
—— PAVT C2
700+ —@— C ////———-\\\\___-////
6001 ‘\’\‘_‘\‘\N"\‘
8 10 12 14 16
hr
—— PATG_P1
500 1 —— PATG_P2
- P
400 -
300 -
200 -
100 -
8 10 12 14 16
hr
—— PATS_P1
500 1 —— pATS_P2
-e— P
400 -
300 -
200 -
100 -
500 -
400 -
300 -
200 -
100 -




|40

- 20

10
© 11

12
13
14
15
16
17

|
[cole) BN e !
~ = N (N

1
(]
(o]



